



three fractions, decimals, order of operations with  
brackets

Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(2 - \frac{1}{2}) \times 2.4 =$$

$$2(\frac{3}{2} - \frac{3}{2}) =$$

$$(\frac{111}{5} + \frac{159}{5}) \div 6 =$$

$$(3 - 3.9) \times 5.5 =$$

$$3(4.7 + 2.4) =$$

$$(4 - \frac{1}{5}) \times 2.8 =$$

$$(15 + \frac{3}{2}) \div 3 =$$

$$(3 - \frac{1}{4}) \times \frac{2}{3} =$$

$$3(\frac{1}{3} + \frac{1}{2}) =$$

$$(5 + \frac{1}{2}) \times \frac{3}{2} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(2 - \frac{1}{2}) \times 2.4 = \frac{18}{5}$$

$$2(\frac{3}{2} - \frac{3}{2}) = 0$$

$$(\frac{111}{5} + \frac{159}{5}) \div 6 = 9$$

$$(3 - 3.9) \times 5.5 = (-\frac{99}{20})$$

$$3(4.7 + 2.4) = \frac{213}{10}$$

$$(4 - \frac{1}{5}) \times 2.8 = \frac{266}{25}$$

$$(15 + \frac{3}{2}) \div 3 = \frac{11}{2}$$

$$(3 - \frac{1}{4}) \times \frac{2}{3} = \frac{11}{6}$$

$$3(\frac{1}{3} + \frac{1}{2}) = \frac{5}{2}$$

$$(5 + \frac{1}{2}) \times \frac{3}{2} = \frac{33}{4}$$